EARAROBREBRT —5 XN—ZXBISH—F

2022F9H30H (&) 6MintE5H

I O—XF7E1— US5R2EBHE

‘(fﬁ} W ‘I%EH?’JFE‘?] ~ | & 1000 =

[AE$] 1 7%:2,700,000 F  237&:1,080,000 / 3&:

675,000 3 4 7&:405,000 F 5 3&:270,000

B %R B BRI ME | BF (TB) |94L (B | BEEM | L3F |SEX | AR | 8 | #ZG GiB) / 55X / £EWS
. . IREIE : - - SREHR (1018)
1 AN =P2= S # 2 | BER 1.((2).9 1-1 37.7 1 (431) Eﬁmyi
RFPIPIIATVA B:H—ILR NIFHRAF—T I
~ = 4 2 | HHES 1:02.2 2-2 7.9 - 2 | 474 | EEEEE (RGE)
2 377#/7%—7— 54.0 (1172 (—) | Bl
R:ZTvF—0OFvh B:T—F4— Bl BE
s =~ LR : - - EEEN (s
3 4| IRY—TESY 2| L= 1.?83).8 33 38.7 5 (439) Iﬁza( )
RIRVIRF v IDxU7— 8:I)E—-0-X BR EE
5 S 8 2 | LUspEs 1:04.9 4-4 39.5| - 4 | 426 |FPEER (B8
4|55 |¥TILYaD 54.0 ) (—) |EHEHEZ :
RiF4—TAN14 B:E7—/ KERIS
w11 | TIMVEFR 2| LR ) - EEE SBEE ()
R:IJUIA9—2 B:T—LRIUFY D—URT7—L
® 1—F—&@BIE(I
13l=2r=
Adl=5r=
30—F— 2,3,4,5
Ad—7— 2,3,4,5
@ IRE
=< 2 130 | | 94 & 2-3 1204 55 2-3 1609 3EE 2-3-4 230M
B B 2 100F4 2-4 150M By 2-3 210M 3iEE 2-3-4 530M
3 130M4 3-4 200M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



